BTSE N R B A R AR B R4 AT Tis
24 FHHHIEA T — 1 (50m) 1/4
HIH ;202446 H8H (+)~6H9H (H)

No.24 5+ 50m BHHE# B A L L—R R

REERD R 26.19

B K £ B FE 7K B iclE
1 e KHL Gt R 2 30/ 2 24. 63 9k
o e
2 i —= & R = 30/ 3 24.79 9%
K V%
SR NI =3 HH E3 30/ 4 24. 81 9%k
K5 Yk
4 BE EX IS =2 30/ 5 25. 51 8#%
K5 Yk
5 gk 2E W =3 30/ 1 25.59 S
K ek
6 EJIkfE A ALYt = 30/ 6 26. 33 8k
7 PF K B i ) =3 28/ 5 26. 43 Tk
8 T RIE N = 29/ 1 26. 64 Tk
9 = Kfn EATE = 29/ 5 26. 81 TH%
10 —iw HE Tl 5 =2 28/ 2 26. 86 7%
11 4% YN FHHEE =3 27/ 5 26. 87 6%
12 &% B A0 =3 28/ 4 26. 95 6%
13 B BEA BHF0 S = 27/ 3 26. 98 %
14 SEH  #Eh EATFE =3 28/ 6 27.02 %
15 4EH ) W &l 28/ 3 27.09 7%
16 i BHK FEHIEE =3 29/ 3 27. 20 i
17 #f5 fEIK B =3 25/ 2 27. 21 6%
18 iy JEAD TRl 5 =3 26/ 4 27.28 6%
19 JEE  HER W= 2 24/ 3 27.30 6%
20 7T gLak KHIEES = 29/ 4 27.32 TH%
21 KN4 T =3 28/ 1 27.39 6%
22 /MY FEK AR =3 29/ 2 27.43 6%
23 FHH BXK FHES =3 27/ 1 27.45 6%
24 HIH g W 7 & =3 25/ 6 27. 51 6%
25 /NE K = LRAES =2 27/ 4 27.57 6%
26 B Ak HHES =R 26/ 3 27.70 5%
27 K MR =R = 27/ 6 27. 91 6%
28 BRIl T HHHE 53 27/ 2 28.17 5%
29 &m 1K FHES 52 26/ 6 28.50 5%
30 B KA B S 3 23/ 2 28. 63 4%k
31 & & 5 HL 5 =2 22/ 5 28. 71 5k
31 JTHE 1BE 3 B = 26/ 1 28. 71 5%
33 FKE ARk LS = 21/ 1 28. 80 5%
34 EH MEL H 52 22/ 2 28.95 5k
34 EAT Fnih LSRR =2 24/ 5 28. 95 5k
36 P =} ERHHITHES =3 23/ 4 29.10 45
37 BiE  EA HHIE =R 24/ 2 29. 30 48
38 HEVL  PHER 2 =3 25/ 4 29. 31 45
39 HE UE 15 B S 15 =2 24/ 6 29.39 45%
40 TH KSR 4 W = 22/ 4 29. 50 45
41 @A Rk T =l 18/ 1 29.59 45%
42 FyN HERAHTHS =2 23/ 5 29. 63 3k
43 WEE R = =2 18/ 4 29. 80 45%
44 JEB BHK FHHrEE =3 13/ 1 29. 89 3%
45 JI1E HRA KW =2 21/ 3 30.03 45

HAOBRME:  6H9H 11:50



X EIR SR N e i e N i N 2 5 & S T e
24 FHHHIEA T — 1 (50m) 2/4
HIH : 20244E6H8H (+)~6H9H (H)
No.24 -+ 50m BEREF A LL—RRE
1EXEER 26.19
B K £ B FE 7K B iclE
46 B R 151 SF 15 = 22/ 1 30. 29 45
47 FHETRHER FHImME =3 17/ 1 31.12 25
48 tREE L 2 RV 2 18/ 2 31.17 3%
49 KB K & i RV =3 20/ 3 31.28 25
50 /Ny e HHIHE &l 19/ 2 31.32 35
51 #%EE 1ER FHImMEE B2 14/ 2 32.05 2%
52 K1 #A HEHIH LR =2 20/ 6 32.45 1k
53 ALt AER iz Ak S 52 16/ 6 32.56 Lk
b4 [A  ZR3E 1R R SF 15 =3 17/ 3 32.96
55 H B KA W= & =3 12/ 1 34. 50
56 EHE EK W Ve = = 9/ 2 36.16
57 TR A miazAb s Al 5/ 2 36. 55
58 EiE  fER ESE SN =al 1/ 3 37.52
59 HH  fn# HLE =3 9/ 5 37.88
60 JTRE Eic HLES i3 4/ 6 39. 83
61 E g ESE S =5l 1/ 4 41.32
62 RAH  {EF e El 2/ 6 42.09
g MESE AR =2 6/ 2 K¥&4. 4
HA &5 miazAb s = 12/ 3 %¥84.4
Kot fEET SRy in=s =l 13/ 2 %k#%4. 4
EvE U THE = 29/ 6 27.94 6%
N NGl HHHEE = 24/ 1 28.55 5k
JII FH 7 HHFEE =3 25/ 5 28.97 45%
P2 NI vV i) N =2 24/ 4 29.72 45
A FK W= = 21/ 2 29.92 45%
fBIR FEILE FHH S =) 19/ 3 30. 07 4%
RS2k 4 W 52 22/ 6 30.19 3%
KX ez 25 B 52 20/ 2 30. 42 3%
T El NS =2 23/ 6 30. 48 25
AH 5 25 B =) 16/ 3 30. 60 2%k
Hiy wHE HHES 52 14/ 5 30. 61 3%
wE JhE L= = 11/ 2 30. 69 3k
N Y = =2 16/ 5 30. 69 3%
NH KR FHEE =3 21/ 4 30. 74 3k
it Atk FHHHEE = 19/ 4 30.93 3k
Ji 52+ BA Eﬁ/ﬂ?m =l 20/ 5 31.00 3k
B N = 7/ 3 31. 01 3tk
fp A ﬁim =1 12/ 4 31. 11 3%
1Rk TR AN 52 23/ 1 31.32 27%
K& Bt B 52 16/ 4 31.40 25%
(Ei N FHIAEE &3 17/ 2 31. 44 1%
& B = =S 18/ 6 31.56 2%
H LE B T HHIEE 52 20/ 4 31.66 2%
ARH R HHIHE =3 20/ 1 31.74 2%
TN B HHE =) 8/ 5 31.75 2%%
g ke A i s =2 16/ 2 31.88 2%
B EH A i s =3 21/ 6 31.94 1%
e SEAk N5 =2 18/ 5 31.99 25
gy RAE T =3 9/ 4 32.05 25%
HAOBKE:  6H9H 11:50
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24 FHHHIEA T — 1 (50m) 3/4
HIH : 20244E6H8H (+)~6H9H (H)
No.24 B+ 50m BHEF B A LL—RRE
1EXEER 26.19

B K £ B PE 7K B iclE
Fig T FHITmE &3 11/ 3 32.07 1%
fitlJFAE 2 g T =3 12/ 2 32.16 1#%
N 2878 TR =3 15/ 5 32.18 Ltk
AR THESE TR = 7/ 2 32. 31 2%
B BEAr B Fn = = 21/ 5 32.32 1%
L FH SRR T =3 11/ 4 32.35
NI RIE JELSE= =3 17/ 6 32.42
KRG BX 4 W =2 14/ 6 32. 51 1%
[N FHHrEE =2 10/ 3 32.57
AN ity = = 3/ 6 32.63 Ltk
BEE Ik HEAHIES =) 19/ 6 32. 66
N FHImEE &3 12/ 5 32. 71
2N 5 5L =2 14/ 4 33.05
SRR it BHFN S = 19/ 5 33.05 1k
=17 K W= 52 13/ 3 33.15 1k
K& b HHHE =3 10/ 5 33.27 Lk
HibE 1= FHImEE = 11/ 6 33. 32
/NEL NIEYE GEgInE = 8/ 6 33.33
It N FHHrEE = 11/ 5 33.34
B 5 AN =2 11/ 1 33.37
M $h5E FHELE =3 15/ 1 33. 45
N B L e &3 9/ 6 33.48
JRH  CRRK R B2 14/ 1 33. 51
B =4 WS Al 8/ 1 33.54
K R THE 5 =3 12/ 6 33.54
mEEr Jof& = i=ai 3/ 2 33.59
A S s =8| 6/ 6 33.73
i e B F = 15/ 3 33.75
A A W= =) 6/ 4 33.77
KH f&t BHFN S =3 13/ 5 34.22
e B FHImMEE &3 1/ 5 34.23
B IEHR FH A5 3 15/ 2 34. 46
il S FHHrEE = 7/ 4 34. 47
R RN L= =3 8/ 2 34. 51
A BEE FHIFEE =3 17/ 4 34. 65
RR] 3Rz 2& 98 s =) 10/ 2 35.24
ik A FHHE A 3 15/ 4 35. 25
AR AT 54 B = 4/ 2 35. 36
AR R LALEER =3 13/ 4 35. 36
eI =E) FHImMEE =3 8/ 4 35. 61
P B AR FHImEE &3 9/ 1 35.70
I P.N FHEE =3 14/ 3 35.95
A e LaEER=s =l 4/ 5 35.98
BbE] EnHA FEHIIFHEE =2 13/ 6 36.13
WS R [ 2 A s =l 5/ 3 36. 47
Suw Y R FHImEE &3 7/ 6 36. 50
T g e — RIS HEp=s = 7/ 1 36. 52
IR AT W= Ve = = 5/ 6 36. 86
FE B FHHrEE =a 5/ 4 37.04
R T LagEER=s =3 4/ 1 37.27

HAOBKE:  6H9H 11:50



TSIV S L S A A IR R TS T

=Y FHFHTHERAK T — /1 (50m) 4/4
HIH : 20244E6H8H (+)~6H9H (H)
No.24 B+ 50m BHEF B A LL—R RS
1EXEER 26.19
B K £ B FE 7K B iclE
g By HHIE 52 10/ 4 37.32
/B o 2 =l 5/ 5 37. 46
FINTEARE SR pEgINE = 6/ 1 37.47
=H H W G = 10/ 1 37.48
2 NN FHI IR =5 3/ 5 38.01
HH OB = =3 1/ 1 38.12
PR B0 =3 4/ 4 38.84
AT R FHHrEE = 2/ 4 40. 34
NEOAEA B Fn = 7/ 5 40. 57
WEER FERK =2 =l 2/ 2 41.87
H Bz T =l 2/ 1 42. 63
ARy s TS = 3/ 4 43. 42
BEH FER = = 6/ 5 43. 46
L FH=F miazAb s = 2/ 5 44. 35
—Hm =X B = 2/ 3 45. 59
IHAKEZIT FHImMEE =a| 4/ 3 46. 41
NE R HH & =g 5/ 1 48. 51
AR K FHIIES = 1/ 2 57.06

HAOBRME:  6H9H 11:50



